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Part 1 Reading Comprehension (70 #2)

Read the article below and answer the questions that follow.

FVRHERED T D RTESOTIAME L TH Y £

Text abridged from the following article:

Plating Tech Brings Innovations. (2018). We are Tomodachi. Retrieved from
https://www.japan.go.jp/tomodachi/2018/winter2018/plating tech brings Innovations.html [Accessed
10 May 2018].
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Based on the article, which of the following statements is true?

(10 /%)

(A) Plating technology has helped make smartphones ubiquitous.

(B) Smartphones have helped plating technology become ubiquitous.
(C) Plating technology has had no effect on smartphones.

(D) Smartphones have created incredibly advanced plating technology.

According to the article, what is plating?

(A) the process of putting a layer of metal on a material
(B) any process that can contribute to biotechnology
(C) the process of changing any material into a metal
(D) a process that boosts our spirit of exploration

Based on the article, what is the primary business of Kiyokawa Plating Industry?

(10 /5)

(A) manufacturing batteries

(B) making miniaturized cell phones
(C) plating electronics

(D) developing medical treatments

Based on the article, how many people work for Kiyokawa Plating Industry?

(10 /5)

(A) approximately 500
(B) between 320 and 350
(C) less than 250

(D) between 250 and 290
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)

According to the article, who is Hajime Kiyokawa? (10 52)

(A) the founder of Kiyokawa Plating Industry

(B) the president of Kiyokawa Plating Industry

(C) an inexperienced engineer at Kiyokawa Plating Industry
(D) a client of Kiyokawa Plating Industry

What does the word (D pride mean within the context of the article? (10 #5)

(A) a group of engineers working like lions

(B) a group of lions living together

(C) commitment to one’s profession

(D) satisfaction from the success of a close family member

Select the most appropriate alternative title for the article. (10 &)

(A) Plating Technology in Okinawa

(B) Advancements and Challenges in Plating Technology
(C) Miniaturization of Automotive Parts

(D) The Life of Hajime Kiyokawa



Part2  Writing (30 52)

Answer the question below.

How can students benefit from being curious? Explain your answer with one example.
Write in English.
(30 450)
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double Pn(int k);
double Qn(int k);
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double sqrt(double x);
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double pow(double x, double y); /* x:00O0 y:00 =%/
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